ANASF

e Phonetics-11" Class

e What is Word Stress?¢uadil) 4alS Jsa . La

¢ In English, we do not say each syllable with the same force or
strength.

a8l ol 5 gall ity tadl wlate JSI J 58 W (ad ey ulaiy) B e
¢ In one word, we accentuate ONE syllable.
aa) 1) adadall §yud ot Bas) g AL @

e \We say one syllable very loudly (big, strong, important)
and all the other syllables very quietly.

C.LGA]\ A 9 6(4.&.@.46 Ao ¢ 4'6‘):\..\5) las Jle uwh\jj\cks.aﬂd)ﬂ °
o 530 5 AY

o Let's take 3 2aliLisen
words: photograph, photographer and photographic. Do
they sound the same when spoken? No. Because we
accentuate (stress) ONE syllable in each word.

die 4ad) O geall Ja — Sld) g2 389 - yudl je 5198 ) )2 148t o
AalS JS 8 a5 adaial (i) e LY - Y Seaadl)

e And it is not always the same syllable. So the shape of each
word is different.

dalide Al UK IS GllAl - Lails dsdy adaall ol Wil 5 o
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Total syllables Stressed syllable
ehaliall & gena 2251 adaial

PHO TO GRAPH 3 #1
PHO TO GRAPH ER 4 #2
PHO TO GRAPH IC 4 #3

 This happens in ALL words with 2 or more syllables:
TEACHer, JaPAN, CHINa, aBOVE, converSAtion,
INteresting, imPORtant, deMAND, etCETera, etCETera,
etCETera

(Ll e tadaliall (e ST 6l Y ae ClalSH pren 8 Caaay 138
L;‘ -o‘)';‘ LA‘ _o‘)';X QA\ ¢ adUaa « A e ddalsa cay\sicM\
o}]

» The syllables that are not stressed
are weak or small or quiet.

_hdujiﬁwjiwqﬂel&d\ck&d\ °
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» Native speakers of English listen for the STRESSED
syllables, not the weak syllables.

phlaall I ad g e0adiall aaliall ) () s 49 alaiYl aalalill
Admal)

* If you use word stress in your speech, you will instantly
and automatically improve your pronunciation and your
comprehension.

)5 clagd s clidad (paty (ot celiad 8 padal) AalS aadis Gk )
Lolats

» Try to hear the stress in individual words each time you
listen to English - on the radio or in films for example.

) i 3y JS 850 Haall Gl 8 agadil) ) e ladal) Jgls
2BV e b a3l DU (e e — A alaay)

 Your first step is to HEAR and recognize it. After that,
you can USE it!

Ilgalasiin) SliSay cclld amy Lgide Cajaill g g LainV) & (Y1 5 5hadl)
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e Why is Word Stress Important? 13 daga Ll 4als il

e \Word stress is not used in all languages.

Caladl) — ‘_gLM\A.ASeM Y e

e Some languages, Japanese or French for example,
pronounce each syllable with eqg-ual em-pha-sis.

il adaiia JST5 ¢ At Hall 5f AU bl ey 3l JUd) Jas e
eg-ual em-pha-sis =

e Other languages, English for example, use word stress.
LAl AalS andiad ¢ 4 Jadady) Ylia (g A clall) o
e \Word stress is not an optional extra that you can add to
the English language if you want.
13) A byl Aadl) ) Letlioa) @i A8leall g - 4 lidl Coual il 44K o

e Itis part of the language! English speakers use word
stress to communicate rapidly and accurately, even in
difficult conditions.

4835 ey wadall 4K (y ganditon Ao 0L faatal g - 1A e a s
M\uj)ﬂ\udu_\;cdm\jﬂ\

o If, for example, you do not hear a word clearly, you can
still understand the word because of the position of the

¢
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stress.

2281l aua se Gy AalKl) agdi ()] Sy (7 guia 5 AalSH) pansi &l 1) -Vl @

e General Rules of Word Stress in English

4yl A aaddl) daldd dalad) 2o 68 o

e There are two very simple rules about word stress:

Badil) dalst Aased) 30 g8l (e ole oi Alia @

1. One word has only one stress. (One word cannot have
two stresses. If you hear two stresses, you hear two words.
Two stresses cannot be one word. It is true that there can
be a "secondary" stress in some words. But a secondary
stress is much smaller than the main [primary] stress, and
Is only used in long words.)

. da) g LA Jadd Leaal daa gl) dalSt) o
el e g 5iad Y 3aa) Il AT o
Ol aians @lild - A8 Ciran 13) 5 @
— saa) g A S8 o S Y el g e

Qﬁjcﬁwﬁ\u'aa_ﬂ"gsjjm\"gﬁﬂ\oéoiu&:\-@m0
[V il st Sl e S8 jraal s (g N )

) ‘
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(add 4L shall CLaISIL andis g
2.We can only stress vowels, not consonants.

e Here are some more, rather complicated, rules that can
help you understand where to put the stress.

O agd e dlacld ol et @l Ky g -le an ) 3a8xa Lgie 3y 3all @

e But do not rely on them too much, because there are
many exceptions.

Ll LY e iKY @llia Y o 0 Leade aaiat Y (Kl o

e |t is better to try to "feel” the music of the language and
to add the stress naturally.
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1 Stress on first syllable Example
Jo¥) adalall e aadal 4|
Most 2-syllable nouns PRESent, EXport, CHIna, Table
slausy) alaie- Y alaes Jsaa mall ¢ paai- palall
Most 2-syllable PRESent, SLENder, CLEVer,
adjectives HAPpy
Glial) ahate- ¥ alara ¢ S ¢ Jaai- pala

2 Stress on last syllable_saY) ahaial) e aaial)

rule Example

Most 2-syllable verbs | To preSENT, to exEXPORT , to deCIDE ,
il ahie-Y alasa | To beginiaw! ¢ 5 jad - paail sl

e There are many two-syllable words in English whose
meaning and class change with a change in stress.

poe Al g inall st g A aday) L)l - uadiall e el o

Qe S \ v ot
I Jaa

Y,
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e The word present, for example is a two-syllable word.
UMAZ\ASGQ ¢ present 4xlS - Siq o

o If we stress the first syllable, it is a noun (gift) or an adjective
(opposite of absent).

(e Se) dia o ((gift) awY! s s «JsY) aaial e 20 LS 1)) o

e But if we stress the second syllable, it becomes a verb (to
offer).

(to offer).( U=l ey ¢S4l C.LBAJ\ e R UK Sy 0

e More examples: the words export, import, contract
and object can all be nouns or verbs depending on whether
the stress is on the first or second syllable.

OS5 Ol (S Object s die cal yiiu) " " jpaai AalS 1 ALY (e 2y 3all @
S s IV adaiall e pasl) e alaie ) Jladl sl clad ez
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3 Stress on penultimate syllable (penultimate = second from
end)

B8 adalall (lgdl) a¥ = 3 paY) Jd L) dlY) Ja La e padal)

rule Example

Word ending in-ic GRAPHic , geoGRAPHic , geoLOGic-,
(s (0 AalS (s 5l gaadl g el )& gaall ¢ ldl jal)

Words ending in- sion |teleVIsion-reveL Ation-
and — tion

e English Tip

e For a few words, native English speakers don't always "agree"
on where to put the stress.

pas e "o " L) A ey ekl Laily (ul «ClaKl) (an; @
ARVt |

e For example, some people say teleVIsion and others
say TELevision.

. TELevision Jsi ,aY) Lzl s teleVIision o st (el (oazs Dis o
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o Another example is:CONtroversy and conTROversy.

Jas A AT Jls @

4 Stress on ante-penultimate syllable (ante-penultimate = third
from end)

() (e ¥ = a1 J8 L) adaiall 3 A J8 Lo e aail)

rule example

Words ending in —cy —ty- |deMOcracy- dependability-
phy and gy phpTOgraphy-geOLogy-

Words ending in al CRiItical- geoLOGical--
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5 Compound words (words with two parts)
(Crl o pn dalS) 458 pa cilals

rule example

For compound nouns, the stress is | BLACKDbird- GREENhouse-
on the first part

I e all e il @S jall sland

For compound adjectives, the Bad-TEMpered- old-
stress Is on the second part FASHioned-

S s 5al e il jall cilial

For compound verbs, the stressis | To underSTAND _ -
on the second part overFLOW-

S e 5al e il @S all Jlasi

1. Can you pass me a plastic knife?

2.China 1is the place where | was born.

3. Please turn off the television before you go out.
4.1 can't decide which book to borrow.

5. Do you understand this lesson?

6. 7Sparky is a very happy puppy.

V)
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e Stress on Verbs Judy) o yadal)

2 syllables — if verbs — basic rule, the second syllable is accented.

Examples: 1n’vent, re’form.
Al adadall e aady ) saclall - Jadll (S 1) - sl

If the final syllable is weak then the first syllable is accented

Examples: ‘open, ‘enter
Adjectives — ‘lovely, ‘yellow
A yaa IV pdaiall ails — Capn a1 adadal) (IS 1)

e Let’s NOW Explain the Stress of Verbs Only.
L Jad) aaii Wl magilien o

e Two Syllables-Verb (mabaiay - Jadll

Verbs On the last syllable Release admit arrange

e Verbs = 3 syllables ahlial) Yo Jdy)

Verbs — is the final syllable is strong then it will be stressed

Examples : under’stand, enter’tain

2281 iy 43 a3 5 8 Al adadall - Jlad)

VY
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on the last

part

Verbs understand
(prep. + verb) (the verb part) overlook
outperform

If the last syllable is weak, stress will be on the preceding syllable
If it is strong.

Examples: en’counter, de’termine

L S0 Gl adadall e aafill )5S Cosud cCama 5aY) adaiall 1)

If both the second and third syllable are weak, the stress
will go to the first syllable.

Examples: ‘parody
) JEi sl Gl ccmaia Gl g SEN adadall e JS SN

JsY) adaiall

VY
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Phrasal Verbs versus Compound Nouns derived from phrasals
phrasals ¢ aaiaal) 48 ) slawd) Jilia Adadl) Jaad) Jlad)

Phrasal verbs (a.k.a. two-word or two-part verbs) are generally
made up of a verb and preposition.

ol Caa g Jad (e (0 sSE (JladSU (3 sl talKD) Adedl) Jand) o

For many of these, correct word stress is especially important
as they have compound noun counterparts.

clas) ot Jie Aald dpaal A dapacall 4K el ¢ Gl e paell o
S all

In the following examples, the words on the left are phrasal
verbs.

e The words on the right are nouns.

oLy & Ol e Gl o

In phrasal verbs, the preposition gets the word stress.
FONN| Jﬂ&iﬁé&d@;ﬁ)ﬂ\uﬁjcw\ d—“éj\u,ﬁ

If they have a noun counterpart, however, it gets the stress on the
first part.

A4
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AV el e il Joasy 4ils celld pa s ol jalai agaal (IS 1))

let down
shut out
print out

turn off

take over

Jas

Lakal

5

letdown
shutout
printout
turnoff

takeover

phrasal verbs
daladl) Jaal)

On the particle

Turn off buckle up hand out

o Let’s Discuss Noun Stresssleay) Ladi (8L U g

Nouns

el

On the first syllable
JsY) pdaiall

Center-object-flower

Yo
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Nouns — if the second syllable contains a short vowel, then the
stress will go to the first syllable.

o) iy sl & ualdle Goga e o ging G adadall (IS 1) - elan)

Y adaiall

If not, it will fall on the second syllable

Examples: ‘husband, ‘placard, ‘window, ‘money, bal’loon,
Chi’nese, can’teen

S il e ady Cagnid (oSl o

3 syllables -Nouns —

If the final syllable is weak or ends with {shwa}, then it is
unstressed. If the syllable preceding this is strong, the stress will go
to the middle syllable.

Examples: re’lation, po’tato, €’leven, sy’ nopsis

O3 W | aaiie ye o 5S {Shwa) @ i sl Camaa Al adadall (IS 13)
b gV adaial) ) Jay spadil) b (s g8 Gulud) adaiall

If the second and third syllable are both weak, the stress will go to
the first syllable.

Examples: ‘yesterday, ‘innocence, ‘bachelor, ‘wanderer

V) adaiall ) sty apadall o8 cChmac Laa SIS - Gl 5 SEN adaiall S 1)

\'L‘




ANASF

Compound Words 4S_sal) clal<)

Stms with hyphen “air-raid”, smts as one word “strawberry”,

smts as two words “desk lamps”

Compounds with an adjectival first element and the —ed
morpheme at the end

el A — ed 4 pall s asall J5Y) jaisll ae S sl o

Examples: Bad-’tempered, half-"timbered,

e heavy-’handed

rule example
For compound nouns, the stress is on the first | BLACKbird-
part GREENhouse-

Js¥ e all e pasill d yall elend

For compound adjectives, the stress is on the

second part

A el e padall s el Gleall

Bad-TEMpered,
old-FASHioned

For compound verbs, the stress is on the

second part

Sl e 3l e padall G jall Jladdl

To
underSTAND _,

overFLOW _

VY
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Compound Words

4 yall clalsl)
Nouns -desktop

(N+N) On the first part -pencil case

(Adj. +N) -bookshelf

-greenhouse

Adjectives On the last part -well-meant
(Adj. +P.P.) (the verb part) -hard-headed
-old-fashioned

I\VV. Homographs

e Homographs are words which are written the same way but
which have different pronunciation.
alida (3l Ll (815 A8 phall sy 5SS WIS 4 Homographs e

e In English, there are many words which have the same
spelling, but whose part of speech changes with the word

stress.
Gl i e e s OS5 colagd) Gt Ll CllSI (e daall ¢y alaiy) 3 o

YA
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e [f you listen carefully, you will hear that the vowel sounds
change depending on whether they are stressed or unstressed.

e e gl dade CilS

VERB NOUN
Record Record
Progress Progress
Present Present
Permit permit

e Word stress patterns il dals hlail

Complex wordssisal) dall)
- words made from a basic word form (stem) + an affix
G+ (stem) L) Sl UG (e il s

- Compound words — words composed of separable root
morphemes. (football)

(p2]) 5 S) Alasiall 48 pall eda cpe callii ClalS - 48 yall cilalsl)

H‘
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Affixes — prefixes (comes before the stem, example: impossible)
and suffixes (comes after the stem, example: happiness)

stem ax i) Bal sl s (Jaatise 1 DM ¢ stem Jé Al cbiald) - cilaadl
(Babandl 1 M ¢

o Suffixes G sl

Suffixes carrying primary stress — the primary stress is on the
first syllable of the suffix.

AW e JaY) adatadl e sa gV arall - Y1 aadill Jai (3a) )

If the stem consists of more than one syllable then its first
syllable will take a secondary stress

il b JV) Baalll adadall aild aal 5 adaie (pe ST (e () 5SS stEm 13

Ja’pan -> ,Japa’nese
‘-ee’ -> refu’gee
‘-eer’ -> ,mountai’neer
‘-ese’ -> ‘portu’guese’
‘-ette’ -> ,ciga’rette

‘-esque’ -> ,pictur’esque
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Suffixes that do not affect stress placement
il mdage e S35 Y Gl Sl
“-able” ‘comfortable
“-age” ‘anchorage
“-al” ‘refusal, ‘rebuttal
“-en” ‘widen
“-ful” ‘wonderful
“-ing” ‘amazing
“-1sh” ‘devilish

For verbs with stems containing more than 1 syllable, the stress
IS always on the syllable immediately preceding “-ish” e.g.
re’plenish

e Laila sl ¢ dadl adaia ) e ST e s sia stems g J8Y)
“-ish” e.g. re’plenish 3 1l (Blud) adaddll

Suffixes that influence stress in the stem
stem & waddll Je g8 Al sl Gl

In these examples primary stress is on the last syllable of the
stem.

. stem e oY) adaiall e Y1 padal) ARG 22 8

AR
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“-eous” ,advan’tageous

“-graphy” pho’tography

“-1a]” de’nial

“-1¢” cli’matic

“-1on” per’fection

“-1ous” 1n’jurious

“-ty” tran’quility

“-1ve” re’flexive

Word with
added
ending

-iC Economic
Geometric
The syllable Electrical
-tion —clan — beforg the Technician
sion ending Graduation
Cohesion
-phy —gy —try — Photography

cy —fy -al

Yy
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-meter

The third from
the last syllable

Biology

geometry

Parameter
Thermometer

Barometer

Yy




